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3)
SECTION -1
qug - |
CHILD DEVELOPMENT AND PEDAGOGY
e e g femmeme

There are 30 questions in all in this section.
All questions are compulsory.

THEUEH oA 30 TH E |
Tl 9 e £ |

Insight theory of learning was propounded by whom ?
(A) Wolfgang Kohler (B) Jerome Bruner
(C) Martin Seligman (D) Erik Erikson
e 1 siagf® fagr= fererss g srf%mﬁa S o 7
(A) dTeHIT o (B) offm gR
(C) wiféx wfemmm (D) Ui TR
Which 1s the final step of problem solving approach of learning ?
(A) Following logical sequence (B) Knowledge of concepts and principles
(C) Verification of performance (D) Demonstration of activity
AR % TERT- T 3N 1 A WO B AR 7
(A) aTfHe 8 1 e (B) Hwe gt frami 1 e E’g;?
(C) Fores =1 v (D) forenfafs &1yl R

Use of defense mechanisms as a strategy for adjustment was originally introduced by
whom ?

(A) Abraham Maslow (B) Sigmund Freud

(C) Carl Rogers (D) Jean Piaget

qURITSH * ford v Y & w0 H e gfEaal o s i wifors w1 9 ek g T

fRar T oan *

(A) 3TSTEH HTEA! (B) firmvg wias

(C) et ol (D) < frEm

Which of the following is NOT a part of Thorndike’s laws of learning ?

(A) Law of readiness (B) Law of association

(C) Law of exercise (D) Law of effect

EEE R e g aﬁa%%@ﬁ@ﬁ%ﬁuﬁm%wqﬁ% ?

(A) doaear <l frem ) arEd &

(C) 31eme & fam (D] w3TTe 1 foarm

Which of the following is a psychological factor influencing classroom learning ?
(A) Health, age and gender (B) Level of maturity

(C) Motivational and emotional state (D) Meaningfulness of the contents
ot 3 9 1w e o whve ) wanerm S aTel AR FRE B 7

(A) TR, 3W TG VS (B)  foerarar i &

(C) AT Tay Heomens: Faee (D) foweraeg 1 s1equiar
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Which teaching-learning method was introduced by Dwight W. Allen ?

(A) Micro teaching (B) Team teaching

(C) Brain storming (D) Interactive teaching
TS Y. U & g i ot fnegor- srfemma fafty s i g 2
(A) e ferem (B) &t farerm

(C) wferss faerm (D) 3r=:feman Taneqor

Which are the three important components of motivational cycle ?
(A) Learning, reward and satisfaction

(B) Need, drive and incentive

(C) Motive, goal and feedback

(D) Achievement, approval and affiliation
AR =sh & dH T TeH DU E 7

(A)  sHfirTH, geepr e ifd

(B) 3TE9ghdl, 3Aa-ie a4t YicdTe

(C) fsion, Seg aen giagfe Eﬁ&%
(D) 3IueAfsd, FTHIE 91 Haiee '

Which of the following is an example of extrinsic motivation ?

(A) Need for achievement (B) Anxiety
(C) Level of aspiration (D) Reward
1 5 9 i A7 aTer ST T 3gEm 2 7

(A) 3TATeH T JTaRHAT (B) fa=m
(C) HThIaT T (D) TR

Which of the following is NOT a type of teaching according to stages of teaching ?

(A) Understanding stage (B) Demonstration stage
(C) Memory stage (D) Retlection stage

e o 3 i o e & Tl S e o e &6 weeR A 2 7

(A) Y ER (B) WEIA &

(C) Hfa TR D) foA=R
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10.

11.

12.

13,

(3

National Curriculum Framework was introduced in which year ?

(A) 2001 (B) 2005
(C) 2004 (D) 2008

T T v ) e a3 et R e ¢

(A) 2001 (B) 2005

(C) 2004 (D) 2008

Which assessment type is NOT related to teaching-learning process ?
(A) Achievement (B) Continuous

(C) Clinical (D) Remedial

TRt %1 B 81 e~ s withen & wwefaa 7€ 2 7

(A) ITAfeH (B) ®dq

(C) g (D) IR

Main objective of action research is

(A) Activity (B) Diagnostic
(C) Descriptive (D) Transformative
forenes SR M TE IR 2|

(A) Foranfarfe (B) et

(C) faaomers (D) FU=HR

Which of the following is NOT true for the construction of achievement test ?

(A) Reliability (B) Evaluation
(C) Vahdity (D) Objectivity
IreAfey wierm & fmin & o fm g s o 7 2 2
(A) TogagHEm (B) HeITHA

(C) dudr (D) EgfEa
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14,

15.

16.

(6) PL-2

Which of the following is NOT a stage of psychosexual development propounded by

Sigmund Freud ?

(A) Phallic stage (B) Anal stage

(C) Oedipus complex stage (D) Latency stage

femvg e g WiedTed FATcitie faehmd 1 sraeen e g 8 e d T8 3 7

(A) Sfer tawen (B) U raxyr gg?
.

(C) 3feud ivTeiad srawen (D) oot Srewer

Which concept 1s NOT related to Jean Piaget’s Theory of Cognitive Development ?
(A) Schema (B) Acquisition
(C) Assimilation (D) Accommodation

S o & werTenss fasm & fagra @ o |t saymon aafRa 3@ 2 7
(A) @hmT (B) afermgm

(C)  ATCHHTCH (D) LT

Pair of genes that occupy a specific location on a particular chromosome and control the

same trait is termed as

(A) Karyotype (B) RNA

(C) Allele (D) Autosomes

S 1 S, S foe o W s fafire wym shmfea s € qun wmm o @ e
AL,  HEAMIZ

(A) ST (B) FNTEAT,
(C) teAia (D) EEy

19
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17.

18.

19.

20.

M

Individual differences in career choices are explained by

(A) Differences in cognitive abilities

(B) Temperamental tendencies

(C) Differences in cultural background

(D) Differences in aptitude

ST 93 § Jafeeh fafuranati 1 fer gro awemn s 2 -
(A) TFHTET FTFAT3T o 3= (B) wwraTa ygfera

(C) wreRias TRyl § 3w (D) el § 37

Role of environment in child development is best reflected by
(A) Temperamental tendencies (B) Personality disposition
(C) Primary reaction patterns (D) Habit formation

1ot faerra o arara 6t gfi % g g9 O &1 A yiafafraq gt 2 |

(A) e gt (B) aforea 1w
(C) wnfires wfafsren & afi (D) red i

Which statement is NOT true as a principle of development ?
(A) Every stage is equally important for development.

(B) Development is the product of maturation and learning.
(C) There are individual differences in development.

(D) Developmental patterns are predictable.

fFmF S s A SR T FH A TE 2 7

(A) Torerat % o3 el srereen 99 &9 8 Hew g ¢ |
(B) femmra, aftaeraar qen digs H19fomm 2 |

(C) foerra # safara fafirrard 2t & |

(D) forhra o yrey qEigaa 2 & |

Theory of moral development was propounded by whom ?

(A) Robert J. Havighurst (B) Lawrence Kohlberg
(C) Elizabeth Hurlock (D) Lev Vygotsky
Afere farmra = forgra fermer gro wfemifen femam mam o 2

(A) T, Bfamed (B) @ digerart

(C) UATEY EleATh (D) o TR
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Which intelligence theory was proposed by Robert J. Sternberg ?

(A) Two factor theory (B) Multifactor theory
(C) Triarchic theory (D) Hierarchical theory
e <. war g gfg 1 e T frgra sfed o ma ¢

(A) e frgm (B) g fgr
(C) s fgr= (D) Targahtin g

Which of the following is a performance test of intelligence ?
(A) Jalota General Intelligence test  (B) Bhatia Battery

(C) Army Alpha test (D) Draw A Man test

foe 3 & = gfg 1 Ferfe adem g ¢ )
(A) Seiter T §fg e (B) wfeanm s %‘%@
(C) 3T 37T Them (D) ST whgm

Which of the following concept 1s NOT true for the nature of individual differences ?

(A) Normal probability (B) Learning similarity

(C) Varability (D) Interrelationship of traits
Sfaa fafierarat H1 whid % o2 1 9 8 %1 = srayron s 74 2 7
(A) T FRTedl (B)  31fermy goran

(C) Faaermfaa (D) ST 1 STy

Who has NOT propounded the trait theory of personality ?
(A) Paul Costa & Robert McCrae (B) Ramond Cattell

(C) Hans Eysenck (D) Gordon Allport
sxferiea &1 e frgra ferem wfqofea =df fopan 2 2

(A) T i e Hehsh (B) TS hed

(C) &4 ATk (D) g Fede
Which personality test is valid for clinical diagnosis ?

(A) MMPI (B) 16PF

(C) EPPS (D) TAT

w1 a1 safaes whew Jerfre frem & ot du 2 2

(A) TH.TH..AE. (B) 16.1%,

(C) .M. wm (D) Aud
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26.

27.

28.

29.

30.

)
Which element of maladjustment is specifically related to decision making ?
(A) Stress (B) Frustration
(C) Anxiety (D) Conflict
FHATATSH 1 I &1 qel o3 w0 g faofa o @ grafrd 2 7
(A) ddd (B) %931
(C) fe (D) %%

According to J.P. Guilford, which is NOT the characteristic of creative children ?

(A) Empathy in thinking (B) Multiple solutions to a problem
(C) Flexibility in thinking (D) Originality in thinking

S0, freied % AR, goiTeHs arerni 6 favdr o df 12 2 7

(A) o o gargfa (B) HWET % ag9Y I

(C) fa= o efiemH (D) Tawa 4 ifeshar

Trisomy-21 1s termed as

(A) Klinefelter’s syndrome (B) Sickle cell disease
(C) Turner’s syndrome (D) Down syndrome
gT5EI-21 1 gl T R

(A) FATSTHE AL (B) Trmer aa T

(C) T geam (D) 1A Tl

Which measure 1s NOT relevant for the education of gifted children ?

(A) Enrichment of Curriculum (B) Remedial teaching
(C) Grade acceleration (D) Special classes
wfersrarrett arerent 1 firam % ford i g sur wrwfie 78 2 7

(A) THHA HI fg (B) STTRICH ST
(C) 2t 3fa (D) feris e

Which disorder is a type of learning disability ?

(A) Cretinism (B) ADHD
(C) Dyslexia (D) Autism
H1 ©t fepfa AR srema 1 0 TER 2 7

(A) iefrsy (B) udw=d
(C) fewifaman (D) 3Affesw
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(10) PL-2
@us - 11
WIET - |

=

39 QUE W FA 30 T B |

avft v sifErd
1 5 & WigeTe, TS AR TR wie e e i o R faft & ae fren 2
(A) Eleed e (B) sfts fnen
() fevgrmés fufyy (D) S Tgfd

T Tt o IvTd UE HIT S et o TI9 T T S W 9110 —
(A) e v fFere gt =iz |
(B) ehfgar Sfteq & g HBm A |
(C)  =hlerdT =Y o1 hefl &R IHe 8 | %‘%
O

(D)  hiadr sea s 3 e 72 it 2 |

foremeff =t 30 & forg o 3% w7 Tt 3 frem foem 3 smevas 2 -
(A) 3reaTes foremefi frftr, wTeg 3R AT To 1 SrgfEE B @ FA R |
(B) 31581 9 S W 37difia yeran 6t 5o |

(C) foreneff = ary weufa SreEr 74 R s |

(D) e 1 3fera T s St 3uer il 9 |

forane o e o ) 3 3 3 2
(A) TETHTCH § Teia Teeh o+, Te 3R ST steavaes wmfl Gis 7 e foar 9w |
(B) AT ZRT SIS 1 S 7@ e 5 |
(C) Taeneff 3ryifg wrsg S=amw =1 3uET 1 97 |
(D) FEATTF R IEH SGER T&| 621 I |

Freferfiaa o & g fewd foreor i wwven 2

(A) eaaTr fofiy &t ardsfaeer | (B) @it & atfermar

(C) WREGS! HI 3T (D) T vy Wt 6} s 74 7 |
e 1 5 T e ogfa | ol e 2

(A) ofertt (B) ™EA-TEH

() W= (D) A
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PL-2 (11) .
37, Traferfiga o @ v faer yer =1 smar Reror arem 2 fgen 9dum | fyener freor 3 weifes

T T 7 9 fe @R
(A) e (B) eetifersm
(C) e & Srarere (D) euftehTet

38, 9 frem % gru foenfiai & wenht T va e qun e e ve sfigfoat 8 fea
forerTr g3 2, TRl ATTeE AR T FE B FH AP FEFHEAE 7

(A) ¥R - G (B) m i - fafipe

(C) royeedm - framm (D) |19 3T AT gRT 9Ted AT hi ST
39, W e & & H Ao o it e § ot o areft il mam g -

(A) T (B) wten farfty

(C) Fwrar wlten (D) STTaHTcHD

40. ‘afe fonefl FEETISH @ 99 @ @, UG 1 SR Tl &4 31 7 @ 2, Ik AGER § aYl
fgd 2 @1 2, df fefefa fremr s gugm =itz
(A) TRATEI® SFEYH | (B)  STERTEHe foraqor | OP1{0)
(C) 3T I3 ATSHI H 9 | (D) fermera fmtor wfufy | Eé?

forferiign mensr o YR W YT 9831 41 § 50 T % IR I -

‘gt sfed § qEd! § 3R g a1 ° FH E A 8 | A Brahar H g@ 1 g H
Fafa 3t 2, 92 e & o 21 S B | Sl v g g @ R uw' i el @ g R s
4 g o1 ‘A 97 et 721 2 | 36} 9% % 319 wiH dehdl I 92l 9 29 o e # s
0 % Tore vren o wEw oid € | 9 A 5 s wrfireafda i wma | s ot sfireafs & forg
W 917U oh feramil bl oGl ot UTdl o 3Tshel 991 21 WW 1 | Ig @rTiosh 3 T fored
=T JATE 1 | s R UET B 8 T 7w o wgd & w3 @ forg 1 o | guek fo g v
foreft of} ferwr v 2 wehmrre A fore -7 ) S 2t 2 | o 9t o St o e 4 ufes
T R, T4 Frar % e sd) Rl T foRa AT 8 ST 9Ty o wen foran s g o

41, T@ifed ‘Hfed T w18 -

(A) ¥Ig (B) Tm

(C) ufeem (D) fasgm
42, ‘IEHA F faAm g -

(A) Figer (B) fomafm

(C) fafiza (D) AEHH
43, ‘o y=e w1 e Ay -foegie 8 -

(A) FE+ B) o+ @

(C) f+m (D) FF+
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(12) PL-2
‘sif¥reafad’ wrfies 9 4 gam fafaa 2 -

(A) fam (B) wremftara

©) %= (D) =iz
g d aqaom w2 2

(A) femm (B) WK

(C) 3™ (D) 4g

‘s vsg % Tt TatgarE 2 -

(A) TGN, ®OT, ITIHA (B) Iy, TV, ST
(C) iy, snfim, sfara (D) 37, T, gt
faidatfizeiggm=?: E%E
(A) A% (B) I [k
(C) Tftse (D) afte

‘T R A TR F & M e e S wEUed E - su Fad B
(A) H-ga (B) aviHTE

(C) T (D) wETgpferd
e d A i 78 2 .

(A) 91 (B) W

(C) @@ (D) @A

‘St & T gaR 2 @ 2 T )l 9 g@ i e § wE AR O ot Fed rear 2 1
TR TR 8 -

(A) Sfcarse g (B) o

(C) TeTaT=s | INIIEREIEED

faferias mems & JMUR W I3 T 51 8 55 7% & I S
“¥79 1 Sl I gfawn g 9 F A ok 09 599§ glow 7}, uge 1 amen Fd

ST Tk § T -G I SHFT §9d 1 TR 8 - ot Th T GRS T @a 1 e
FRUR o U I W HFEH 3 T2 | T8 I8 G 781 o | 3 dl 3 SN o 0 et |
TR EI 2 3R W % gE vl o oft 5 <k 7w 9 ol 9 E | 39 e R W B U & avg b Ao
TS % 1Y AN JE-T¢ M T & | TTHH & ST@IR AT+ TUIGHH T53 §ell ot FerTierd
2 | 36 T8 UM SR 1 37 dIR Hal 3R &1 § aur eI w2l 3R A § | | 3l srEEr
T8 3 TEeh AR W TRl BT GHIA (AT | TF U5 H AR foRAT S AT 3R IHH fowed &
T8 -1 ferehel T TR BT =6 Teia § ST AT | 379 56 doheteh 1 et o avft 79
FEETRHE o1 3 |7
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52.

33.

54.

35,

6.

57.

38.

59.

60.

(13)
iR “3eq’ 31 1 HY & —
(A) IR (B) FArhIET
(C) g (D) 3rEEer
Feferiiga o 9 ‘ST’ 1 Fal IqE1 7
(A) TR % T U Bl ST STEH &R |
(B) 37l arEeR A1 319 IR Hal S 2 |
(C) el I8 gfaen suersy 78 ot |
(D) 3 arEeR fag g1 T2l SR 36 et 1 SEAHTE ol ST |

fafafga d ashfem 2

(A) HTH (B) Fifae

(C) TR (D) =p1ee

‘3] qeh-flen 1 FEcTel feben’ T TEiferd o1 age= Sgerd W EnT -

(A) 3 TR | (B) 39 b |

(C) A asai | (D) BH ashATE |
gy w e o &0 2

(A) @ (B) @ i
(C) IR (D) oS ok
e’ I @ i g w2 -

(A) & (B) e[

(C) == (D)

TH Qe T 31 | it Tea 1 SR 2 -

(A) fasmom (B) foman-fagmmr

(C) M (D) TETM

e AT FLAT 1Y Fohe FlA AT HRIHI 8 —

(A) T a T | (B) 24 %I 2% TR &1 T A |
(C) fea i ar femmé < | (D) 31T o &

"SR] 1 99 A & | 3 e rfireafa e aredt st e 2 -
(A) HUH 9 FH R | (B) Al | HT e |

(C) U Al TR dTTs 1 78] il 2 |(D) U SR 6 SR |

‘STl ! YT ST || 0 1o § I 4% o1 o g @ 7
(A) 3mmverl fagd (B) 1=
(C) 5 g (D) iferH
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37.
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40.

(14)

SECTION -1
LANGUAGE -1
ENGLISH

There are 30 questions in all n this Section.
All questions are compulsory.

Which type of reading is also known as rapid reading or independent silent reading ?

(A) Extensive reading (B) Intensive reading

(C) Library reading (D) Loud reading

Which one of these is not the method of teaching writing ?

(A) Tracing method (B) Free imitation method

(C) Intensive writing method (D) F.G. French’s method
Reproduction technique, Role play and Performance are the main techniques for :
(A) Reading skill (B) Writing skill

(C) Speaking skill (D) Listening and understanding skills
The speaking and listening skills are developed by using :

(A) Flannel Boards (B) Pictures

(C) Film strips (D) Record-player

Language laboratory is a very popular technical innovation. It is derived from :
(A) United Kingdom (B) America

(C) France (D) Germany

Which one of these 1s not a Quantitative Techniques of Evaluation ?

(A) Oral Techniques (B) Observation Techniques

(C) Practical Techniques (D)  Written Techniques

The technique of evaluation that includes certain statements of Yes and No type is :
(A) Check list (B) Observation techniques

(C) Rating scale (D) Anecdotal records

Which one of these is not a function of CCE ? Eﬁ
(A) Children can know their strengths and weaknesses. et

(B) It provides the child a realistic self-assessment.

(C) 1t does not help teacher to organise effective teaching strategies.
(D) It helps in identifying changes in attitudes and value systems.
One of these is a feature of formative assessment :

(A) 1Itis an assessment of learning.

(B) Itis adiagnostic and remedial.

(C) It is the most traditional way of evaluating students’ work.

(D) Itis generally taken by students at the end of a unit.

Functions of evaluation are :
(A) Diagnosis, motivation (B) Diagnosis, prediction
(C) Motivation, understanding (D) Teaching, learning

Read the passage and answer the questions (Q. Nos. 41 to 45) that follow :

PL-2

Why do people get stressed ? Adolescents are faced with the demands of their
developmental task and that of a complex society. They need to acquire skills of adjustment
to emerge into adulthood unaffected by these demands. If they lack these skills or if too
many demands are made on them, they fail. Students are anxious, as they are worried about
whether they would be able to live up to the expectations of their peers, parents and teachers.

Optimal anxiety motivates and keeps them ahead while over-anxiety is disabling.

Anxiety 1s contagious and passes onto other students, teachers and parents. Adolescents,

when stressed out, tend to perceive everything as an emergency.
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Choose the Synonym for the word ‘emergency’ :
(A) exogamy (B) exigency
(C)  exequy (D) exemplary
Choose the Antonym for the word “optimal’ :
(A) enamel (B) decimal
(C) unideal (D) imaginable
Choose the misspelt word : DP0
(A) percepsion (B) motivation o
(C) complexion (D) paternal '
Noun for the word “developmental” will be :
(A) develop (B) developing
(C) developed (D) development
Choose one word for “a disease spread by direct or indirect contact of people or organism’:
(A) complexity discase (B) stress disease
(C) contagious discase (D) fever disease

Read the passage and answer the questions (Q. Nos. 46 to 50) that follow :

Education as commonly understood by people means acquiring certain knowledge
and skills in order to earn their living. But that is only one purpose of education. You may
ask why ? This 1s because humans are much more than just wage-earning machines. They
are endowed with emotions and feelings which enrich their life. These emotions and
teelings need to be developed so that they can develop into social beings, able to interact
with fellow beings who are also members of that society of which they are a part.

........ in order to earn their living. Here living is :

(A) anoun (B) anadverb

(C) anadjective (D) averb

Choose compound adjective from the phrase ‘wage-earning machines’.
(A) wage (B) earning — machines

(C) machines (D) wage — carning

Which of the following phrases has a determiner in it ?

(A) acquiring knowledge (B) They are endowed

(C) humans are much more than (D) You may ask why ?

‘Education as commonly understood by people means acquiring certain knowledge and
skills in order to earn their living.’

Which tense is used in the above sentence ?

(A) Present indefinite (B) Past indefinite

(C) Past perfect (D) Present perfect

Which of the following has the three degrees of the adjective in their correct form ?
(A) common, more common, most common

(B) common, commoner, commonest

(C) common, commoner, commoniest

(D) common, commoneer, commonicst
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Choose the sentence which 1s correct in structure ;

(A) How does the world tending to become a unity ?
(B) How is the world tending to become a unity ?
(C) How will the world tending to become a unity ?
(D) How did the world tending to become a unity ?

Choose the correct option to fill the blank in the sentence given below :

The wounded man by some boys.
(A) were being helped (B) are being helped
(C) was being helped (D)  will being helped

He said, *Be quiet and listen to my words’. Choose the correct option to complete indirect

speech of the above sentence using phrase given below :

Heurged them

(A) be quiet and listen to his words ~ (B)  to be quiet and listen to my words
(C) that be quiet and listen to lus words (D) to be quiet and listen to his words

Choose the nasal’s sounds :

(A) |m,np (B) |Lp.t]

‘ . EiaE
(©) Wiz (D) 16,8,/ S
Choose the correct phonetic transcription for the word *Kimberlite” : ‘
(A) ['Kirmablart (B) |'Kimbalart]|
(C©) |[‘Kimbarlart| (D) |‘Kimbalait]
Grouping and sequence are involved in the principles of
(A) Habit formation (B) Follow the natural way
(C) Controlled vocabulary (D) Gradation

The teaching material should be in accordance with the mental age and should have

relevance in real life situations. It is main characteristic of :
(A) Principles of Selection (B) Principles of Habit formation
(C) Principles of Gradation (D) Principles of Controlled vocabulary

In which method Mother tongue dominates in the teaching of English ?

(A) Direct method (B) Dr. Michael West’s New method
(C) Translation cum Grammar method (D)  Audio-Visual method

Dr. Michael West’s New Method is based on the principle :

(A) Priority of reading, separate provision for readers

(B) Priority of writing, speaking

(C) Priority of speaking, writing

(D) Priority of writing, separate provision for writers

Which one of these 1s not related to the Direct Method of teaching English ?

(A) It is Natural Method also.

(B) It 1s Mother’s Method also,

(C) It was approved and spread by International Phonetic Association of France.
(D) This method consider visual appeal over aural - oral.
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SECTION - III
LANGUAGE - 11
ENGLISH

There are 30 questions in all n this Section.
All questions are compulsory.

“Important principles may and must be flexible.” Who quoted this ?
(A) Woods (B) Washington
(C) William Weak (D) Whitestone

Natural order of learning a language is :

(A) speaking, listening, writing and reading.

(B) [listening, writing, speaking and reading.

(C) listening, speaking, reading and writing.

(D) speaking, listening, reading and writing.

Which one of these 1s not an element of communicative approach ?

(A) Communicative approach is practical in use.

(B) It develops the speech ability.

(C) Itis not practical in use.

(D) It lays stress on the functional value of the language.

Which is the latest application of teaching language ?

(A) Structural approach (B) Communicative approach

(C) Project approach (D) Inductive — Deductive approach
Choose one of these which 1s not a remedy to resolve the challenges of teaching English :
(A) Provide certified and qualified teachers. (B)  Building Rapport

(C) Building Confidence (D) Use only one method of teaching.
Which one of these is not an advantage of online remedial education ?

(A) Gives a sense of isolation to the learner.

(B) Elimination of barriers of time and space.

(C) ltis cost-effective.

(D) The instruction pace is flexible.

Which one of these 1s a disadvantage of online remedial education ?

(A) Itis easy for the student to navigate information.

(B) No technical support from the instructor.
(C) A well designed online course makes it easy. [

(D) None ﬁ%ﬁj

Continuous evaluation is basically :

(A) formative in nature and is school based.

(B) summative in nature and is school based.

(C) formative in nature and teacher based.

(D) summative in nature and teacher based.

Which one of these is not a merit of Group Evaluation ?

(A) Different leaming styles cannot be evaluated.

(B) Students learn in cooperative manner as they help one another in a group.
(C) A healthy competition in a group motivates them to learn.

(D) None
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Summative evaluations :

(A) Provide the information on improving a product or a process.

(B) Provide information of short term effectiveness or long term impact for deciding the
adoption of a product or process.

(C) Provide information about teachers and what they teach in the classes.

(D) None

Read the following passage and answer the questions(Q. Nos. 71-75) :

Lack of control by parents is also harmful. If parents do not impose any constraints on the
adolescents, then they have a tendency to go astray and choose the wrong path, and later
become difficult to discipline. Such adolescents feel let down and think that nobody cares for
them. Hence some discipline from parents is necessary.

3

" may be an appropriate title for the given extract.

(A) Discipline (B) Adolescence

(C) Lack of control (D) Tendency to go astray

Fill in the blanks with appropriate linking devices which are given below (for Q. Nos, 72-73) :
_ adolescents their friends feel let down and think that nobody cares for them.
(A) Both-and (B) As-as

(C) So-and (D) Though - and

They have atendency ~ togoastray  to choose the wrong path. (According to
the passage)

(A) neither — nor (B) either—or

(C) not only — but also (D) so-—as

Adolescent as well as his friends let down and think that nobody cares for them.
Choose the appropriate verb to fill the blank 1n the above sentence : @i

(A) feel (B) feels =

(C) s feel (D) will be feel '

If a Guardian  not impose any constraints on the adolescents, then they have a
tendency to go astray.

Choose the correct option to fill the blank :

(A) have (B) are

(C) do (D) does

Read the following stanza and answer the questions (Q. Nos. 76-77) :

‘Give me a flower delicious as the rose

And stately as the lily in her pride’ —

But of what colour ?” — ‘Rose-red’, Love first chose,

Then prayed — ‘No, lily — white — or, ‘both provide;’

Choose the correct rhyme scheme in the above stanza :

(A) aabb (B) abab

(C) abba (D) abced

‘Give me a flower delicious as the rose ........ " Which figure of speech is used in this line ?
(A) Metaphor (B) Assonance

(C) Epithet (D) Simile
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Richard was a lion in the fight.

Which literary device is used in the above line ?

(A) Simile (B) Metaphor

(C) Personification (D) Alliteration
Choose the correct figure of speech in the lines given below :
Pride goeth forth on horseback, grand and gay,

But cometh back on foot, and begs its way.

(A) Personification (B) Simile

(C) Metaphor (D) None

“Betty Botter bought some butter .......... "

Which figure of speech used in the above line ?

(A) Simile (B) Personification

(C) Alliteration (D) Metaphor

Choose the correct modal auxiliary to fill the blank : W]
You improve your spelling. (necessity / obligation) Hg,?
(A) “should (B) must =R
(C) can (D) might

What’s the good of entering into negotiations with “a man of straw’ ? Here *a man of straw’
means :

(A) aman of no substance or consequence.(B)  a man who is made of straw.

(C) amanwho is light in weight. (D) aman who strays here and there.

A poem that has 14 lines, each usually containing 10 syllables, and a fixed pattern of rhyme
is known as :

(A) AnElegy (B) Limerick

(C) Ode (D) Sonnet

On the approach of a policeman the bully “showed a clean pair of heels’. Here ‘showed a
clean pair of heels” means :

(A) ready to clanfy (B) he showed his shoes
(C) ranaway (D) walked away
Which one of these does not belong to an elegy ?

(A) asad pocm (B) mourning poem
(C) emotional poem (D) ajoviul poem
Choose the bilabial consonants :

(A) [pb] (B) |td

(©) |tf] D) |kg

Which 1s lateral consonant ?

(A) [m] (B) 1]

(C) [n] (D) |wl

The symbol of underlined letters in the word *Ship’ is :

(A) Sh By S

© J (D) o

Phonetic transcription for the word “jute’ is :

(A) |oet| (B) [ dzu:t]|

(C) |jut| (D) |zu:t]

Phonetic transcription for the word “wreathe’ is :

(A) |ri:d| (B) |wri:th |

(C) | wrid| (D) |reath|
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(A) Feafad: (B) &A@
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TARSA, A=A, Yol §H: HeA,
STeCH1 HISERITR & 6 HIeATdgTehdl o ?

(A) TSR (B) v Ter

(C) SETH= (D) MTUIRITeTET

FEpafye) SrEdrad], fomameam, o, Sm=ieon, yayd w9 fad: g af ¢
(A) umfad: (B) ST

(C) =TEATY: (D) wEEIEf:

TR HTY, ATV, T = hugefieonie i fafer: aef <grfa ? 3
(A) TR (B) drcfuamefaf. %i}%
(C) STty (D) AT
GEHAATITIEORE AT ST gerEre wafd -

(A) WIATEHH (B) Hidrarem

(C) UEHI=H (D) FATHTETETR

FHIAATY Fehe F TYATSHEREIAT Yo 7
(A) d&H (B) <
(C) wmIgd (D) <=H

BT ST, Yfgmhioed, FavfFrs $4 e 7
(A) ¥HOH (B) &
(C) aefaae (D) AT
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90.

(60)
wed I TE9 § I ST I AT E »iaE T AT wigE 9
(A) »id & Jar wreg fiser J | (B) 3t & Jar »red frserd |

(C) ot g fogmg fuzera | (D) »fidt & fegea s d |
s 5t Ho=g T gaeT mIg J

(A) de& (B) 39T TIE"

(C) wHT e (D) o=y

H'STT & »UTg 3 U AT § fds 2o 199 < dieTd ;

(A) BY, o B) 9,3

(C) Y8, fued (D) ®%,¥§

2,3, 3, cfofis 75

(A) & (B) FIwId EEE
(€) IR (D) wagst Eﬁﬁf
Y339 Mg '3 T fdat fami 2 30 75

(A) © (B) 99

(C) f3& (D) Uw

a8t Frfe-gu =7 AaH fan feara i w3 faadt Quamr f<e we 3 ufast Ifewr
(A) a3 GEgdt (B) HB33 w3 BiJd Quam
(C) W= w3 WSt (D) wif{zHI w3 Wt
wiZaEat T ¥ 89 Jurd:

(A) dHs (B) IH3AT

(C) u3d (D) w9

fio Ao RETt 9= d ;

(A) €359 (B) 33

(C) §u (D) fommaaa

FE & TR 37975 29 <t O3t Anfgs F fauft wg 3 Wt I :

(A) 3 (B) fezet

(€) D) fg

35 fasfimt 139 faozr famr fenf3z Bt & Geas T

(A) di9-oiwg (B) WHt-THH

(C) Te-=fon (D) fHow 13
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61.

62,

64.

66.

67.

(61)

w$ — I
GUNL - 11
dorRicll
AL VSHL §E 30 UL S.
€35 WAL el 204l 82l 5.

o101 [eld ezl Bl doldl 24Mdl 17 53 6, det 2] sda ¢

(A) @l (Bl (B) Hmdiu
(C)  Riaricus 2 Gl (D) A5 2Aealoxd

A2zl 53 laied stoisl uu s [ 9
(A) el (B) Al
(C) dauid (D) 54

ARl [Feiirliioll 53 [t 213 55 ¢
(A)  G{ldust 2 2R UbA 8, (B) 2Asi DA 2R~ 3 AUlbiA 6.
(C) A B A Ul . (D) &plRels 2 224 UL 55,

15 [Rlats ASHL SRAER 2l 2o 53 6. dl del

(A)  CLOSIHL A Slaleudl [Asiad 2l

(B)  lOsHL &AL A (e (el [R5 2l —
(C)  CUOEIHL Hs il [E513 22l E’&ﬁj
(D) CAOSLA URIEHL IR IRL AL,

Al 58 oliotd 2=l % v

(A) e sl ossll 24 ded 24dks qzies.
(B) ML YRelseAL 501 @5l élell S,

(C) o™ oL 2Rl Sldl Al

(D) s [AzualfAidAl cusail 234 Sldl o,

ARt s |2 Gl e 535

(A) Gz (B) &5
(C) [srbsL (D) & HMES

Al R A lcHEE AL USR 54U 7
(A) HullEd Gz UsR (B) [Folausi
(C) oiglse s (D) il Bz s
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68.

69.

70.

(62) PL-2
UUHS 50| 125U UL Bl UL € ¢
(A) UM s Fadl (B) Usleze-l
(©) Wil (D) ERlagal

Al At Hels HE 53, [Feld WA ¢
(A) Al HeUised Lol Bid AU .

_ ) E5E
(B) et Heuis-l [eneHl Aotuued g 31 s, E‘%ﬁ*
(C) e Hels A [Qal wgld 6.
(D) o A5 [ gy .

WAL R2UAL 3l <t LAl 5 oqoid] w0l ?
(A) S, adq o usdusz  (B) [, Uil Reds 21 4
(€)  [azuell, s qaes v o0 (D) &t Il 2 U USR

Al2L AL ILELLLAL PALAR USASHIS 71 2L 73l orellol 20 2

A WO 85 AHEL AL 242 7 % 2l s 12 S A 2L d AH-6L DAL BARL 4l

gorell 2ot 2 Al 3 HE 2l 8. 2383 YR gl UE-AEL Al Aadl Glau-{la

ustsl. s lelicRlann gz el Heldl. AHeL suis 2lid; suls Elsdl-5adl 2@ DA 2 UL 5

£ %ell 12l §EARL U5 B el otell o 5 A sl Ul 2 HR dL6{R Al . 2l Uk 8L

ORI 4 6. Ul HSlelz 2ddl 9. 2l 2uRAL ERL 0L RSl 92l Aid dddl

uelle, AUlEeAL et AUsUESRAL ot % W 2.

71.

72.

73.

‘gl ebAl 2l ool

(A) s MR (B) el AR

(C) 685 DR (D) 2lldtcdl AR

2l 2] AsIESIR srellAl Mo 52U AN 2UL 6 7

(A)  &lsell 45l Bl MetsHL (B)  BURRAMLRIAL 551 <422 el UAleH
(C)  AHEIL Elledrll Ul leHL (D) gl et Ul

BURLd VL] 2, 4Bl SRAUML ARG S ¢

(A) Ll (B) Al

(C) el (D) AslEsR
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ALZL 2ALLE HELAL ALER USASHIS 74 24 TS5 Ao ML :
514 5% & M)l 2 WEH !
5 5% 8 Md,
AASL HIZLHES 2AMELL
oled ol 5852l 7 2 HIEH,
AR Wl 531 A Al
Olell 3 ABRAL AR 5
HDL S B Y Hibrd HAURL,
LAl HOLWHIR, 3 HIE™,
oAlasiAlL 2 2L gL cleatd _
AR &l & AR, % HIEH, E—s&%
Gl MElal] dl Al o A '
Als 0 A vsrR 516 A ;
50101 BUR 5% SR A
e 04l AL218 Gl 2 Wierd.

74, 2L L 2l o (L 8L S ¢
(A)  Hded DR A, (B) izt Gl cslal dlsl.
(C)  AURURL HéAa oA, (D) H 50 Bure 511,

75. 28U 58 2 ael usi ¢
(A) WML Hotels Wb Bl 530, (B)  A8lzill AR otlellA,
(C)  AglAll AR el 530 (D) st ol MR 218,

76, ~Al2L e [FetAisll s ddHme [ sy 5 d s
(A)  2WsEUY) Adl HEHLAE 241, (B) a2l (el s.
(C) @A ets el 51U W 7 (D) &RUR 2l el ol Al 2l

77, <Al@-Ariell s [ur 2 9
(A) ‘it 2SR AlAHL UG 8. s A us(eboru el
(B) &L, W, wwell, el 432 AstAl cuaas &,
(C) U0l UoEUHEL LA oL Al el 514 53l Wa [l 58 &,
(D) AlM % UdAHAL A2 QHR] 52AR Us [N 58 6.

78, “[eletiellRAl Hel1HLRH 5. syl Buuldameil MsR el

(A)  UHUAIUS (B) sciclis

(C) UNARIS (D) =lctalis
79, HEHAADIDL B 5L 954 A{ROLE ¢

(A) [@Qoazel (B) H&lstll

(C) el (D) el
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81.

82.

83.

84.

86.

87.

88.

89.

90.

(64) PL-2

Azl 53, [l UL 2AcsRA S ¢

(A)  endld Wei2is ¥ yer 8. (B)  exel 3ol gz 8.
(€) [z 2l vigell celall, (D) sHaad 6l sle-L UG RIdL

‘2R 521 Al Uzs AsURUAL 5 6 ¢
(A) xRl el v vrey sid. (B) (el duizt Wiz 2o el
(C) MRl viRey) sz1astdl (D) ¥ [zl Rl 2499 sl

el E UL AR 5 R DR S 7
(A) el (B) weulR™
(C) widlaz™ (D) Rl Rigrt

Al dedH 206 SULES 9
(A) 561l (B) slvul (ORI (D) 514$

e, (Ao, [@a1% 510 Bl 5R5R WM A2l dall 4e 4 séa ?
(A) [Qaimet (B) (& (C) <ud (D) iy

Al il idHl 2os sl 6 ¢
(A) MRl (B) 20AS (C) ¥ (D) 5%

AleAri] v ugldedl elzlBsdl s :
(A)  ([RznelA saw Sluedl dely “o s,
(B) (enellAi-l aydpill gz AR 5. S

(C) [RanellAdl seutilx [Qsa 8. =

(D) [RenellAvl A 48l 6.

Aza{l5313 g Al UL oL HIZ 4 RIS 6 9

(A) SR (B) [as

(C) S5lslyp (D) ke

DR HA- (A g HI2 AL 58 Alodd URILES ?

(A) aEnels~lusl s, (B) el uglds.
(C) o Riats-(Rael sl s. (D) o et gl 65,

A0S HIGMHMI [R12191 58 DML U 53Ul U3AA SR 45 ¢
(A) Ry (B) aslrar (€) Burerw (D) dReusrA

slddl = gl sou s ¢
(A) 2woel (B) sl (C) gsul (D) Hell
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SECTION-IV /@€Ug - 1V

In this Section, there are 2 sub-sections 1.e. IV(a) Mathematics and Science and
IV(b) Social Studies. Both the sub-sections consist of 60 Multiple Choice Questions each.

The candidate has to choose either 1V(a) Mathematics and Science OR IV(b) Social
Studies as selected in the Online Application Form and answer all the 60 questions.

T8 @vE ¥ ¢ ITEE HYUid [V (a) MU Fun fa@m @ 1V(b) Avnfaes semem & | gl Swavel &
e H 60 Fgfahedia v £ |

witereff &1 1V (a) nifvra aen fasm sian [V(b) amrfes steaam, S 999 SiAers Aree-ma 1
fopan 2, # A forelt ves Sw@ve 1 o1 2 ud w60 i 1 IR |
SECTION-IV (a) / @UE - IV (a)
MATHEMATICS AND SCIENCE / Tiford aen fasm

There are 60 questions in all in this section. The candidates who have selected this subject

must answer all the questions.

5a g A et 60 ¥ 2 | o arvafiat 3 sm fower w61 wre fopan 2 52 ety v e 2

91. The knowledge of Mathematics 1s

(A) Exact (B) Logical

(C) Systematic (D) All of these

o HT FHEA1 2 -

(A) e (B) difd= B4
(C) =uag (D) 78wt

92. “Mathematics is the giving of same name to different things.” This statement is said by

(A) Henry Poincare (B) Roser Banken
(C) Berthlot (D) Benzamin Peirce
“Tarfsr=r axq a1l 1 M 9 ¢ € iU 2 |7 392 A foRe e 7
(A) T iEH (B) TR a4

(C) aUaiie (D) s firrd
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93.

9%4.

96.

97.

(66) PL-2

Which of the following statements is not related to the reason for giving special place to
Mathematics in the curriculum ?

(A) Mathematics is an exact Science.

(B) Mathematics generates logical attitude in children.

(C) Mathematics is not for ordinary people.

(D) The language of Mathematics is universal.

o T 0 9 w1 FHym e 1 argaeEn J TS T 3 F FR0 9 geia 17 2 2
(A) v Tk Ay faE 2 |

(B) Tora &/l § ifeheh 3feeahivn 41 htar 2 |

(C) T | Sl % e 2 |

(D) Trora <Y 7T Freitfies gt 2 |

Mathematics teaching is useful :

(A) In social development (B) 1n practical life

(C) Inintellectual development (D) Inall of these

Tifore firezor IR gren 2 -

(A) T foehre o (B) wITEEIie e |

(C) sitfg forar 4 (D) Fafid

The word “curriculum’ 1s originated from

(A) Latin languagc (B) French Ianguagc

(C) German language (D) None of these

‘FHipem’ (TaTHa) Teg F A gE 2 -

(A) wfeqamrg (B) W Wi ¥ %’g@
(C) S o | (D) T & T |
‘William Kilpatrick™ is the founder of which method of teaching mathematics ?
(A) Lecture method (B) Demonstration method

(C) Project method (D)  Analytical method

‘foferam fererifem” nifvra fareqor <ht feper wigfar < weems=h 8 2

(A) e fafy (B) el fafy

(C)  ware fafy (D) faweifyss fafer

Which teaching method follows the principles of ‘Leaming by doing’ and ‘Learning by
observation’ ?

(A) Inductive method (B) Laboratory method

(C) Deductive method (D) None of these

o Toraron farflr o “areek o’ s “ srereira g diean fagia i aremn B R 7
(A) 3T fafer (B) srivaren fafy

() frmm fafy (D) THHHETE
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99.

100.

101,

102,

(67)
Characteristics of a good test is
(A) Validity (B) Objectivity
(C) Reliability (D) All of these
Ush 3726 TRIRT0r <l forgreen 2 -
(A) S (B) I3
(C) Tervaria (D) =g asft

In which type of teaching “The main purpose is the development of effective techniques
for the correction of error in all types of learning”™ ?

(A) Diagnostic (B) Remedial
(C) Achievement (D) None of these
for wrepm o foreror & “ a1 waeft Ffeat 1 355 w0 & Tort wurasmett faftr %1 fasra #om
J&d 39 g1 2" 7
(A) Tremmos (B) ITERIHS
(C) ITefen (D) 3T9 ¥ I8 T
In the teaching and learning of mathematics, the use of teaching aids helps in :
(A) Making teaching joyful. (B) Making contents interesting.
(C) Maintaining class discipline. (D) All of these
TTfore fareror it i o e wgreres G SR e 2 -
(A) Toeror =t Tk ST | (B) fowa-awg =l wie SR A |
(C) &1 H I §93 @A H | (D) T aftd
The value of [I—]_z x[lr x[ir is :
‘ 2) “3) \a) ¢ %ﬁ
(A) -576 (B) 576 .
(C) 144 (D) 288
(5"
2 4
(A) 576 (B) 576
(C) 144 (D) 288
The sum of two numbers is 15. If the sum of their reciprocals is 10° then the larger number 1s
(A) 15 (B) 20
(C) 10 (D) 25
. . - 3 . 5
& TS H1 AN 15 2 | TS 37 Sqzhml 1 A T g, araE T
(A) 15 (B) 20
(€) 10 (D) 25
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104.

106.

107.

(68) PL-2

Which of the following is correct 7

(A) Dividend = Divisor x Quotient + Remainder

(B) Dividend = Divisor + Quotient x Remainder

(C) Divisor = Dividend * Quotient + Remainder

(D) Remainder = Dividend x Divisor + Quotient

fadaed?:

(A) WS =YT9%h x YITEA + 996 (B) WA = SIS + WIThel x S9%A
(C) b = WTST x UTTEA + 96 (D) Y%A = I x AT + HITHA

The value of \/ 176 +4/2401 is

(A) 49 (B) 6.08
(C) 25 (D) 15
V176 +4/2401 HIAAZ -

(A) 49 (B) 6.08
(C) 25 (D) 15

. If 271D =(243)3, then the value of x is

(A) 3 (B)

(C) 2 (D) 5

afe 273v D= (243) &, M FTHH R - g%;?
(A) 3 (B) Bk
() 2 (D) 5

If the simple interest on ¥ 600 for 4 years and the simple interest on ¥ 600 for 2 years
together amounts to ¥ 180, then the rate of interest will be :

(A) 4% (B) 5%
(C) 5.5% (D) 6%
afe % 600 7 4 T T TR A 3 T 600 FHT 2 T8 HT AR =T FHT o1 T 180 2,
(A) 4% (B) 5%
(C) 5.5% (D) 6%

If the side of a square is increased by 50%, then by what percent will its area increase ?

(A) 75% (B)  100%
(C) 125% (D) 150%
afe, feref) ot < S5 1 50% s fean S, A1 56 e | foad fawra i gfg & smof ¢
(A) 75% B) 100%
(©) 125% (D) 150%
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110.

111.

(69) C

.3 ST 3 . o
If 10 part of a pipe 1s in mud, 5 part in water and remaining 5 metre above the water
surface, then the length of the pipe will be :

(A) 15m (B) 60m

(C) 30m (D) 50m

ﬁ@mm%mmﬁ,%WWﬁWﬁSﬁawﬁﬁmﬁws‘r,a‘rvrs":r
=1 ovaTs g

(A) 15HX (B) 60 HX

(C) 30X (D) 50 #HX

The present population of a town 1s 5000. If there is a decrease of 10% in the population
every year, then the population after 2 years will be :

(A) 4500 (B) 4050

(C) 4000 (D) 3500

Ush TN I Ia9H SHEEAT 5000 3 | afe SHeEean °H gfded 10% =i & 81, a1 2 99 =§7e 6
e B -

(A) 4500 (B) 4050 [OF10]

(C) 4000 (D) 3500 Eﬁ‘?

What should be added to each term of the ratio 16 ; 25 so that the ratio becomes 2 : 3 ?

(A) 3 (B) 1
(€ 2 (D) 4
FAIT 16 : 25 o T T H 1 AT 1Y o I8 3914 2 : 3 B IR 7
(A) 3 (B) 1
€) 2 (D) 4

A quadrilateral whose four sides and angles are equal to each other is known as

(A) Square (B) Rectangle
(C) Rhombus (D) Parallelogram
(A) i (B)

(C) Fwagds (D) GHT=R g
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113.

114.

116.

(70) PL-2

The ratio of the length of the side of a square and its diagonal is

(A) 3:42 (B) 1:42

(C) 2:2 D) 2:1

ot 7 5[ U 36eh TIH0] i AT BT S @ -

(A) 3:42 (B) 1:42

(C©) 2 :2 (D) 2 :1

The sum of two sides of a triangle with the third side is

(A) greater (B) small

(C) equal (D) None of these

fopeft frvgr o1 &) et vt A gl T A BT R %%
O%ad

(A) 3T (B) B

(C) = (D) T8 8 &% 7

The volume of a cuboid is 440 cm* and the area of its base is 88 ¢m?, then the height of

the cuboid will be

(A) 3cm (B) 25c¢m

(C) 6cem (D) Scem

U TTH T AT 440 99 Tt & 3R 30k TR 1 8% 88 1 Il 2, a1 °9TH 6l S8
2

(A) 3ot (B) 2.5t
(C) 6wt (D) 5 Tt
5. The number of diagonals in a cube 15

(A) 2 (B) 4

(C) 5 (D) 6

ush g9 | foepon st o 2§

(A) 2 (B) 4

() 5 (D) 6

If the height of a cylinder is 11 ¢m and the curved surface area is 968 cm?, then the radius
of the cylinder will be

(A) 10cm (B) 1lcm
© l4em (D) 8cm
7fe Wb g H1 Ha1g 11wt 371 a5 753 HI et 968 a1 Tt &, ol se i B gnfh -
(A) 10 @t (B) 11 =t
(C) 14 % (D) 8@
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117. The arrangement of presenting the data in columns and rows in a sequential form is called

(A) Classification (B) Tabulation

(C) Presentation (D) Analysis

T 1 WHT AT Afeal § H0ag 9 5 T Hi ol TaeAT Hgard] @ -
(A) arfiehaur (B) HHUfEA

(C) SRt (D) fawerso

118. Which of the following is not a source of secondary data ?

(A) Magazines (B) Official report

(C) Self survey (D) Data stored on the internet
o g =l o Tt ar o srfwei s Ea T8 € 7

(A) i (B) TRT wleaed

(C) =afdd gra &ad fopan man wd (D) $eTe W unfzd Hiwe

119. With the observation of frequency polygon, which of the following can be found out ?

(A) Mode (B) Median

(C) Mean (D) Standard deviation

e By o sraciieA 8 fefofiga 5 4w 3rd fomn Sgshan 2 2

(A) W (B) wfeaehr -
(C) == (D) T fI=em Eﬁﬁf

120. When two dice are tossed simultaneously, the probability that the sum of the numbers
appearing on both the dice is 8 will be

I |

(A) & (B) 34
5 7

(€ 3¢ D) 34

2 UTET 1 Uk TN ISTeA T ST I8 R A7 Fhedl Tl 61 37 & 214 6t wilRekar 3 -
] 1

(A) 3 (B) 36

. 5 7

© 35 D) 3¢
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124.

(72)
Which of the following is a non — infectious disease 7
(A) AIDS (B) Cancer
(C) Corona (D) Common cold
o 3 & s I AT ?
(A) TEH (B)
(C) HRAT (D) HTHRI R

In which stage of cell division synaptonemal complex is formed ?
(A) Prophase [ (B) Prophase II

(C) Prophase (D) None of these

ifsrent fourem # fereifamet afery 1 fmfn o o srend grar? 2

(A) AT ] (B) ateT I
(C) amER (D) 398 IS T

Fossil fuels are

(A) Renewable source of energy (B) Non-renewable source of energy
(C) Both(A)and (B) (D) None of these

Sfraredt o

(A) Tl &1 Feltereofta wia (B) Fell 1 RO T
(C) (A)a (B)THI (D) ¥ 4 %

Ganga Action Plan — Phase [ was launched in

(A) 1987 (B) 1985 @36
(C) 1989 (D) 1984 Eg';
T SRl GRS ~ SR [ o1 SR G ¢

(A) 1987H (B) 1985#

(C) 19897 (D) 19847

. Which bacterium causes gonorrhoea disease ?

(A) Mbycobacterium tuberculosis (B) Corynebacterium diphtheriae
(C) Muycobacterium leprae (D) Neisseria gonorrhocae
& Sfer] ¥ o I EAT R 7

(A) TTEHSFITAT TR (B) witHewfEm fewerdar
(C) ARHEINEY o7l (D) et mafErs
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126. Which type of mammary glands are present in human female ?
(A) Apocring (B) Merocrine
(C) Holocrine (D) Eccrine
HTE] ATa H T T4 i § Foh <6l TRl e & 7

(A) THTHEA (B) Iz

(C) BIeilshre (D) AT

127. Disease caused by deficiency of Vitamin — C (Ascorbic acid) 1s
(A) Night-blindness (B) Beri-Beri
(C) Scurvy (D) Rickets
forerfr-aft (C) (Tehien wftre) o1 et & &R aren A R - %ﬁ'ﬂ?
(A) Tl (B) -0 '
(C) el (D) ferea

128. In which phase of cell division process of synapsis occurs ?

(A) Pachytene (B) Zygotene

(C) Diplotene (D) Diakinesis

Hifdrent forsrrsr 1 &1 €t sraeen 1 Reform 6 e gidt 2 ¢

(A) Tl (B) e

(C) fe=ifen (D) SR
129, When medical termination of pregnancy was legally approved in India ?

(A) 1947 (B) 1971

(C) 1958 (D) 1960

e & fafercedta wmian woTom st wp Wit w8 weH 1 7T 7

(A) 1947 (B) 1971

(C) 1958 (D) 1960

130. Where is the institute that developed ‘Saheli’, a contraceptive pill, located in India ?

(A) Bangalore (B) Ahmedabad

(C) Lucknow (D) Chennai

‘gt Frmes o - FRIue et @1 foeiaa F e T, SRA § wal R 2 7
(A) HTER (B) rEHeEE

(C) &= (D) =3
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133.
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Example of Rabi crop is

(A) Wheat (B) Groundnut
(C) Maize (D) Soyabean
Tl =) THE T IE 2 —

(A) T (B) Hmedt
(C) WahI (D) TRTEH

. Which teaching method was popularized by G. Stanley Hall ?

(A) Psychometric method (B) Anecdote method

(C) Questionnaire method (D) Case-history method

off. Weht & 3 & o e fafey =1 Sl sma 7

(A) AT farfer (B) wamt fafy —_—
(C) weae fafy (D) =fF—sfrar fafy Ol

Characteristics of continuous and comprehensive evaluation is

(A) Durational aspect (B) Continuity
(C) Omniversal development (D) All of these
HId Ud ST o1 1 fareran 2 -

(A) i vEe B) Fw
(C) T fowms (D) ¥l

. Which of the following is not an advantage of teaching aids ?

(A) Expensive material (B) Motivation and interest

(C) Effective for slow learner (D) More efficient learning possible
freferfiaa & & % @ frem—wgrres wmmit 1 @y 7E 2 7

(A) mET Emft (B) oM g ekl

(C) firee areri % forg waeht (D) Fge TH %! Wit T9a
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136.

137.

(75) C

Which of the following is not a correct example of muscular force ?
(A) A person lifting a bucket of water placed on the ground with both his hands.
(B) A person lifting a book on the table with both his hands.

(C) A person stops rowing a boat with both his hands then boat stops after travelling
some distance in the water.

(D) A person pushing a table placed on the floor with both his hands.

fifera o @ N w1 U3ia 7 1 9 S A R 7

(A) Tt safer gro s 21 gl & onfia o vt ot < st 6 s |

(B) fepeht safer gro 3t il 2101 © B T i Uk e i 39 |

(C) fert safer grr 31 STl @121 & 11al 1 g oL S T, T il TR 3 e gt e & ST |
(D) foreft wafea gror o S 21l & el ot Tl B B ek |

[f a simple pendulum takes 40 seconds to complete 20 oscillations, then the time period of
the simple pendulum is

(A) 2 second (B) 0.2 second

(C) 5 second (D) 0.5 second

A U T St 20 Aot T H H 40 YHVE A1 2, A1 T At 1 SFAHIC 2 ¢
(A) 2H%TS (B) 0.2 FHTE

(C) suHTE (D) 0.5 FTE

A cold steel spoon 1s dipped in a cup of hot milk, then its other end -
(A) becomes hot by the process of convection.

(B) becomes hot by the process of radiation. @@
(C) becomes hot by the process of conduction. E
(D) does not become hot.

WIeT 1 T 38! T I TH 4 % H9 H o T 361 g8y [0

(A) e SIshaT 3T T & S |

(B) Tarferor wfsran gry e &1 o |

(C) e W3R ZRT TR & S |

(D) T T & |
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138.

139.

140.

141.

(76) PL-2

The image of an object formed by side glass of motor vehicles is -
(A) erect, real and smaller in size than the object.

(B) erect, real and bigger in size than the object.

(C) erect, virtual and smaller in size than the object.

(D) erect, virtual and bigger in size than the object.

HTet aTa1 < qTve vl g U e (o) 1wt o winferay @ar 2 -
(A) e, ardfess a9 @ 8 a5q (o) A 31 |

(B) Hien, arafoss aun @ ¥ avq (fomay) @ wen |

(C) dhen, mureh o1 wrEw § o (fawar) & BT | —
(D) Hfier, et qer wTes ° g (fam) @ v | ot

The correct statement for loudness and pitch of the sound in roar of a lion -

(A) Loudness high, Pitch-high (B) Loudness high, Pitch-low
(C) Loudness low, Pitch-low (D) Loudness low, Pitch-high
IR =i ggTe 1 i 1 YaeTdl Ud aRed % ot 88 %294 8 —

(A) Taorar AR, JRe At | (B) IEAaT TR, 10 FH |
(C) waeIdT %, dicd FH | (D) AT HH, qTied A |

Which of the following device is based upon magnetic effect of electric current ?
(A) Electric bulb (B) Electric fuse

(C) Electric bell (D) Electric press

Freifera o @ fora o & b waTe W i g R

(A) fagaaea (B) foga

(©) fogaad (D) o st

Which planet is least dense among the following planets ?

(A) Saturn (B) Mercury
(C) Mars (D)  Jupiter
R I T e F M UE Hed FH O 8 ?

(A) W (B) ¥
(C) e (D) FEwld

<
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142. Which of the following is not correct for *evaluation’ ?
(A) Itis an integral part of teaching process.
(B) It is more objective, reliable & valid.
(C) ltsarea is limited.
(D) Diagnostic and remedial teaching is possible through this.
frifehe # & “Tearrhe o fofu i w1 ot e TE 2 7
(A) g frem sifsran = af= o @ |
(B) 72 wfsh aqfaes, favaaimaurau 2 |
(C) o &7 Hfa 2 |

(D) 38 g fIeMTeHe: qU1 IT=RTH: frem R 2 |

143. Example of thermoplastic among the following 1s

(A) Bakelite (B) Melamine
(C) Polythene (D) Urea-formaldehyde resin
frafafias o 3 e w1 g 2 -

(A) dehese (B) HelmaTEd

(C) wifereft (D) Ffer-wiifeeare M

144. Monoatomic molecule among the following is

(A) Argon (B) Hydrogen
(C) Oxygen (D) Ozone

freforfiga o @ v 3 2 -

(A) A (B) @TEZH
(C) it (D) FASIH

145. Chemical formula of magnesium phosphate 1s

(A) MgPO, (B) Mg,(PO,),
(C) Mgy (PO, (D) MgPO,),
fwfifirem wieke & TomEfe g7 2 -

(A) MgPO, (B) Mg,(PO,);
(C) Mg,(PO,), (D) Mg(PO,),
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148.

149.

150.

(78) PL-2

The process used to separate grain from stalks is

(A) Hand picking (B) Threshing
(C) Sublimation (D) Sieving
& e ) R A SRR ) o B s T &
(A) & (B) ufem
(C) FHEETEH (D) dTeH

Natural indicator among the following 1s

(A) Litmus (B) Phenolphthalein

(C) Methyl orange (D) Methyl red
freaferfiam i & s T 2 —

(A) feemm (B) frateafem

(C) Tfe s (D) Tfye e

Inexhaustible natural resource among the following is

(A) Forest (B) Coal

(C) Natural gas (D) Sunlight EC
P i & s1em s g 2 - S
(A) & (B) R

(C) SThfash g (D) &3 1w

Example of co-curricular activity in Science teaching is

(A) Chart (B) Model

(C) Bulletin board (D) Science club
Tz foreqm & urew wammdt fopan &1 3grEw € -

(A) = (B) Tigd

(C) Teifeare (D) o 7w
Which class of plants is called “Amphibians of the plant kingdom™ ?
(A) Pteridophyta (B) Gymnosperms
(C) Bryophytes (D) Angiosperms
form =t & i = “ured ST W IR FRI AL 7

(A) femm (B) fomremd

(C) TR (D) uferrvem
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SECTION-IV(b) / @US — IV(b)
SOCIAL STUDIES / QTHIeh 318794

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

58 @Ug A et 60 T 2 | o srafefal 3 3w fow o1 wm v @ 3 ot wee e e R

91. Which one is not included in “Fundamental Duties’ given in Article 51 A ?
(A) To Pay Taxes
(B) To Defend the Country
(C) To Safeguard Public Property
(D) To Develop the Scientific Temper
o 3 © i w7 iR 51 % W feu e woer d e Ad 2 ¢
(A) T T PTAH H | (B) oW TR |
(C) weafranfa s | (D) 3l gieesion 1 foepma 1 |

92.  Which Constitutional Amendment determined the size of the Council of Ministers ?

(A) 8 B) 91
(€) 101 D) 102 ,
o Tfe woiter ZR Sffee w1 SRR futfe fr e 7 E—%%
(A) 81 B) 91 i
(C)y 101 (D) 102

93. *SVEEP’ is related to
(A) Voters Awareness Programme  (B) Rural Swachhta Programme

(C) Urban Swachhta Programme (D) Corruption Control Programme
‘@i’ (SVEEP) st 2
(A) ATEHT ST HTIsHA (B) TTHIT T=dT hIdshA
(C) wgll w=d1 Fm (D)  weTER fea SrEA
94. ‘The Dispute between two States™ 1s part of which jurisdiction of the Supreme Court ?
(A) Original (B) Appellate
(C) Advisory (D) Wit
T % A% foaTe” Swan =mTer % 3 e &1 fgem g ¢
(A) Tifers (B) 3rfietia
(C) weTreshid (D) fe (aifwe)
95. The *“Theory of Basic Structure’ was propounded by the judiciary in which case ?
(A) A.K. Gopalan (B) Kesavananda Bharati
(C) S.R. Boomai (D) Golaknath
et W 1 fagra” =merTfersr 3 fopw are ¥ witmfea fovam 7
(A) T3, M (B) HyaTE WKt
(C) TH.3R. 978 (D) T
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97.

98.

99.

100.

(80) PL-2

Which of the following statements is false ?

(A) The earth 1s also called a blue planet.

(B) Venus is considered as “Earth’s - twin”.

(C) Saturn is an [nner planet.

(D) Mercury completes one orbit around Sun in 88 days.

e i 8 B W HeE e R 7

(A) el i fier g oft FE ST 2 |

(B) ¥ %I 72l 1 ol Jg AH1 A1 4 |

(C) W % FREw U5 2 |

(D) 9, 3 o IR 3R 0 ufernu 88 foi 4 qu e 2 |

When it is 10.00 AM on 0° longitude, what time will it be at 15° east longitude ?

(A) 11.00 AM (B) 11.00 PM
(C) 10.15AM (D) 09.45 AM
ST 0° QAT T GHE % 10.00 39 & &, 1 15° Gefl qurtt T fehertn @ g 7
(A) ¥ 11.00 (B) TR 11.00
(C) 9rE: 10.15 (D) wrd: 09.45
The place in the crust where the earthquake movement starts 1s called as —
(A) Focus (B) Epicentre
(C) Vent (D) Crater
-0t % 1 T8 T STRT eI 3T Bl 2, HEeral & —
(A) 3TH g (B) 3firkg
(C) T&m (de) (D) A
Earthquake and Volcano are caused by - %
O

(A) Endogenic forces

(B) Exogenic forces

(C) Endogenic and Exogenic forces
(D) Solar forces

T R ST fed g w1 H 2 -

(A) Fasiad et (B) sfZsifd ot

(C) 3iasia vd afgsta aef (D) HiwHEA a7

The Agulhas current flows in which ocean ?

(A) Arctic Ocean (B) Atlantic Ocean
(C) Pacific Ocean (D) Indian Ocean
IAETE R M 3 wgrEre # yafed 2t 2 7

(A) Tehieeh WEMETR (B) A WETHTR
(C) Il HETETR (D) faw weramR
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101.

102.

104.

(81)

Who was the first General of Archaeological Survey of India ?

(A) Lord Cornwallis (B) Sir John Marshall
(C) Alexander Cunningham (D) Wilham Bentinck
WA L e % Tged T i 9 7

(A) TS Hi-are™ (B) T ST AT

(C) TS HiTem (D) faferm dfé=

Which statement is true regarding The Therigatha ?

I.  Thisis part of Sutta Pitaka.

1. Is acollection of verses composed by Bhikkhunis.

IIL.  This is part of Vinay Pitaka.

IV. It provides an insight into women’s social and spritual experiences.
(A) LILII (B) LILIV

(¢ ILILIV (D) LIILIV

M FHEY TR HETA R ?

. wydfeswfame |

I 3o frergfaa g i B8 o1 wehe R mn 2 |

L 92 fora firess w1 fawamn 2 |

IV. sod afgensit % amfe st snenfe suel % ar 3 saghe frerd 2 |

(A) LILII B) LILIV
(C) I I, 1V (D) LILIV
®iaE

. Vardhman Mahavir belonged to which dynasty ? Ol

(A) Lichchhavis (B) Haryank

(C) Shakya _ B (D) Satavahana

e erdi fope aw A wafyd 9 7

(A) foreadt (B) w%

(C) (D) HiqdTEA

Why Magadha was the first among the Sixteen Mahajanapadas ?
(A) Agnculture was especially productive.

(B) Presence of Iron Mines.

(C) Availability of Wild elephant.

(D) All of these

HicTg TETSHIEH H WTeT Yo 2y o 7

(A) T & IT =BT M | (B) &g 1 TgH gM |
(C) STelt BTl 1 39ted 2T | (D) I

. Where is the Harappan site called Lothal located ?

(A) Rajasthan (B) Gujarat
(C) Haryana . (D) Kashmr
e AT ZEUTE Tl Hal ad 7

(A) TRIH (B) TG

(C) =famm (D) e
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106.

107.

108.

lﬂgo

110.

(82) PL-2

Barygaza was the Greek name of which port of ancient India ?
(A) Bharuch (B) Ankamedu
(C) Puhar (D) Madurai
SIS T ST o %M § G018 1 A1 A1 o 7

(A) wEd (B) ifermg
(€) TR (D) wgt

Chola inscriptions mention several categories of land. Among them Vellanvagai was
(A) Land of Non-Brahmin Peasant proprietors.

(B) Land gifted to Brahmins.

(C) Land for the maintenance of a school,

(D) Land gifted to temples.

I siftreral ° vt fafim wifedi @1 oo fieran 2, 3 9 “Iocrams” & ey o1
(A) s feam it 4 yfy (B) SRV} &1 3ugR # 4 ¢ wfiy

(C) foelt foremera & wewm@ & fu yfy (D) wfet =t swgr & &) 78 gy

How many sub-committees have been mentioned by Magasthenes to conduct military
activities in the Mauryan administration ?

(A) 4 (B) 6

(C) 8 (D) 10

reerfiet A 4 weme # S fafafir 3 werem % for feaedt su-wfirfoi w1 soora e @ 2
(A) 4 (B) 6

(C) 8 (D) 10

What was the land donated to Brahmins in the Gupta period called ?

(A) Vellanvagai (B) Shalabhoga

(C) Devadana (D) Agrahara

Wﬁ@ﬁﬁ@mﬁﬁﬁ@waﬁé? mm
(A) doeaTTg (B)  SIeAT ﬁ’%ﬁf

(C) &M (D) 3WER
Which was the capital of the Chalukyas ?

(A) Madurai (B) Amaravati
(C) Bharuch (D) Aihole
AT %1 TAGTH hiF & off ?

(A) "R (B) amTadt
(C) w&d (D) U@
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111. Who was the first Sultan to visit the “Shrine” of Khwaja Muinuddin Chishti ?
(A) Qutubuddin Aibak (B) Iltutmish
(C) Muhammad bin Tughlaq (D) Alauddin Khilji
G e geH ot 1 “T0Te” T 3T STl 9aell God™ HH 91 7
(A) I Tah (B) geqatim
(C) Hewe fom et (D) FreTse figesht

112. The Polaj, Parati, Chachar and Banjar land types belong to which period ?
(A) Maurya (B) Gupta
(C) Sultanate (D) Mughal
UIels, Wl =R 9 SR Y % YRR fha FHe g wafid 2 7
(A) = (B) T«
(C) Heaad (D) HTA

113. Which was Akbar’s favourite style of Calligraphy ?
(A) Nastaliq (B) Kufic
(C) Manzil-abadi (D) Herat
FHS | G i FEgre Al B i o ? E-gﬁ'?

Bk

(A) TefeTeh (B) i
(C) e e (D) @

114. Who painted a picture titled “The Relief of Lucknow™ about 1857 ?
(A) Marshal (B) Miss Wheeler
(C) Thomas Jones Barker (D) Joseph
“2 fieft® 317 o143 Ame o 1857 & fawa o feree saman 7
(A) Hris (B) fig=dient
(C) UTHE =4 5T (D) JH%

115. Who was the author of the book ‘Gulamgiri’ ?
(A) Dayanand Saraswati (B) Swami Vivekananda
(C) Jyotirao Phule (D) Raja Rammohan Roy
AT AT [T & EH B Y 7
(A) TIHE gTEad (B) @t faehre
(C) AfawE g (D) TSI T9HTET T
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118.

119,

120.

(84) PL-2

‘Family Welfare” subject is given in which schedule of Constitution of India ?

(A) 4 (B) 6
© 9 (D) 11
‘aftaT ool ferer e % aferr <61 b st A fer man 2 ¢
(A) 4 (B) 6
(€) 9 (D) 11

Who has the power to amend Constitution of India ?

(A) Supreme Court (B) Only Lok Sabha
(C) Only Rajya Sabha (D) Parliament

A & WU T GIEH H 1 vfed g a2 7

(A) F=H AT F (B) T A T HI
(C) T T U1 ! (D) HHEHI

When is ‘Legal Services Day’ celebrated in India ?

(A) 1 January (B) 10 August

(C) 9 November (D) 10 December 3
R o ‘Tt e feaq’ wa wmn g ¢ %&E
(A) 19l (B) 10 3T

(C) 9 awad (D) 10 femmn

State the correct sequence of words mentioned in the Preamble of the Constitution of
India.

(A) Fraternity, Equality, Liberty, Justice.

(B) Equality, Liberty, Justice, Fraternity.

(C) Liberty, Equality, Justice, Fraternity.

(D) Justice, Liberty, Equality, Fraternity.

TG % WfauT <ht 3grept & afifa vrsd) 1 Wt I 99 |

(A) AT, HHAT, WA, = (B) G, Tdadl, =1, ST
(C) TaaeraT, T, =T, S (D) =TI, S, ST, ST

When was “Protection of Children from Sexual Offences Act (POCSQ)” came in force in
India ?

(A) 2008 (B) 2010
(C) 2011 (D) 2012
A § “fireh S0l 9 sreenl w1 e sifufaem (qien!)” we dn g ¢
(A) 2008 (B) 2010
(C) 2011 (D) 2012
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121.

122,

123.

124.

(85)
Which fair of Rajasthan is called ‘“Kumbh of the tribals’ ?
(A) Beneshwar Fair (B) Kaila Devi Fair
(C) Jeen Mata Fair (D) Diggy Fair
“srfeaTiit 1 9" T % HH 8 Ut ] FET AL 7
(A) SOTET Fe (B) helT gt oe
(C)  Sforray Hef (D) ferft Zem

Thamanyo, Thedyo, Aad and Thussi ornaments are worn by women in which part of their
body ?

(A) Head (B) Neck
(C) Hands (D) Waist
o, g, 311g, gRf AT Sy afeena g Tl o FR e € 7
(A) fd (B) w3 H
(C) wud (D) FHH

“Maharaja School of Arts and Crafts” was established by which Rajasthani ruler ?
(A) Sawai Jaisingh (B) Sawai Ramsingh

(C) Jagat Singh (D) Jaswant Singh

“TERIST e 317 37TEH Ug shioed” 6l o1 fonat Tromeyrehh s gy shtareht meft 7
(A) §T Sz (B) TS TftE

(C) STt (D) SrEfeE

“Valar dance” 1s performed by

(A) Female (B) Male

(C) Male and Female (D) None of these E5E
TR o fertreh g fepan ST 2 7 Eﬁ’
(A) #Higm (B) TR¥ R

(C) #agEwgr (D) 7 & IE T

. After attaining which of the following objectives, a student can correct any given error in

amap?

(A) Gaining Knowledge (B) Development of Understanding

(C) Application of Knowledge (D) Action Skills Development

fr= 5 = forw v o) wnfeq T foreneff et wafem 7 ifra smapfai =t e e wsan 2 7
(A) FHRH (B) ®ta 1

(C) TR (D) forareaes Soret o1 faeer
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126. “Education is nothing but the socialization of the younger generation.”
Above mentioned statement is given by which scholar ?

(A) Durkheim (B) Bossing
(C) Aristotle (D) T.P. Nunn
~fiteq 78 gt % wohest & ifafs £ T ? 10 FYF wRI TR -
(A) g (B) =iftm
(C) 314 (D) A4t
127. “Model of understanding level of teaching” is also known as
(A) Herbert’s Model (B) Morrison’s Model
(C) Ausubel’s Model (D) Turner’s Teaching Model
“Oieel A FSTELUST cae 3ATE AR =1 38 919 8 oft 1 e 2 -
(A) & Hige (B) wifee wiget
(C) s Hige (D) TR A iz

128. Which of the following teaching objective 1s not associated with Benjamin Bloom’s
Cognitive Domain ?

(A) Knowledge (B) Receiving

(C) Analysis (D) Evaluation

1 5 & Snfi som % SR ve © wrafE B A e g T8 R
(A) T (B) sfemzor

(©) foretom (D) e

129. According to the nature of instructional method, project method belongs to -
(A) TCI (Teacher Controlled Instruction)
(B) LCI (Learner Controlled Instruction)
(C) T-LCI (Interactive Procedure Instruction)
(D) GCI (Group Controlled Instruction)
I Tl 1 el Wil oh SFER STASHT oy wwafE 2 -

(A) H.H.Im. (s FEta ) %—;@
(B) et g1, (Ruamefl Fafia srdvm) -
(C) &.-ver. .. (3edfaea i 3eH)

(D) i3, (g fafa e

130. Which of the following formula can be used to represent the “Measurement and
Evaluation relation” ?
(A) Measurement = Evaluation + Assessment
(B) Evaluation = Measurement + Assessment
(C) Measurement = Evaluation
(D) Assessment = Measurement + Evaluation

iR Td T % Hraey o fufon fie # @ forw g gro wefifa R snasar 2 ¢
(A) T = YT + ged e (B) TeHA =TT + qoI fAufor
(C) T = qearaA (D) T Ao = 7T + geaie

https.//www.pygonline.com


https://www.pyqonline.com/

PL-2

131.

132.

133.

134.

(87)
Which of the following steps is not a part of “Project — Method” ?
(A) Creation of the situation (B) Selection of project
(C)  Analysis of information (D) Evaluation of the project
et 1 1 B T g ST feaft e e ARl @ 7
(A) uftfeufe e e | (B) IS 1 T |
(C) ga & faverm | (D) STISHT 1 g |

Which of the following suggestions were not presented for the continuous and
comprehensive evaluation of National Education Policy-1986 7 https://iwww.pygonline.com

(A) Evaluation should be aim-based.

(B) Nature of evaluation should be vast.

(C) Evaluation should be done regularly.

(D) Intensive training is not needed in making of question papers.

g faren fife- 1986 % goaie 1 e 3R e 91 % ar=ria frer ggrma 7€ fean e —
(A) Fedioha oed e g =IfEe |

(B) HedTsh 1 &Y AT g1 MY |

(C) Hoaha e foman st =nfe |

(D) S oy o areamen] 1 e gfvrer i srevashdr 121 2 |

Which of the following is useful in class-room teaching comparative study ?
(A) Poster (B) Time lines i
(C) Sketches (D) Graph E‘&@
Fe-Tneqvr o qeTene e & fore waht g 2 - '
(A) TR (B) THa-arferanrd
(C) @ (D) TT%
A student can learn about the culture and folk life of ancient and modem times through
(A) Tour (B) Museums
(C) Observation (D) All of the above
Wi U8 IAHH 1t 1 SEehfd UE AR -Si1aH 1, BT Y& €9 8 5 V< it 3, 98 WH 8 —
(A) wm (B) HUETeH
(C)  SFefeile (D) I wf
. The newer, younger deposits of the flood plain in North-Indian plain, are known as —
(A) Bhanger (B) Khadar
(C) Bhabar (D) Terar
IR~ T ¥ a1g e = -gan Fami wt s g -
(A) TR (B) WX
(C) T (D) T
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Which is the most wide spread forest in India ?
(A) Tropical Deciduous forest (B) Tropical thorn forest
(C) Tropical evergreen forest (D) Montane forest
YA ¥ TEARIT 3 I A AT I HH AR ?
(A) IeRfeaefia wofare o (B) IwThieaeia Hider o
(C) IoTHicHtia HerER o (D) wEdE T
Which crop is known as “Golden Fibre™ ?
(A) Cotton (B) Jute
(C) Hemp (D) Natural Silk
M o ®Hel 1 “GIEU T o AW Y AT A8 7

[OF0]
(A) FH B) =i
(C) ¥ (D) Wi Wwm .
Metallic mineral pair 1s —
(A) Manganese — Copper (B) Copper — Graphite
(C) Iron - Mica (D) Mica - Dolomite
oo e g 2
(A) I - arar (B) dfam — A%TEe

(C) =T — 379 (D) 39 — EAMTEL

The biggest selling anti-cancer drug in the world 1s extracted from which plant in India ?
(A) Arun (B) Himalayan Yew

(C) Sarpagandha (D) Axlewood

forvar o wadl 3feres foep aeft dhom et 3fwfey e O 61 8 N @ e 2t 2 7

(A) A (B) famreras 79

(C) T (D) FHIIE

In the arid and semi-arid regions of Rajasthan, the word “Palar Pani” is used for —
(A) River water (B) Underground water

(C) Canal water (D) Rain water

TSR o Y[ 9 314 -3 &1 § “Ter-TH1" W1 fohwrh foru s g 2 ¢
(A) T e (B) T e

(C) T& = (D) =9

The biggest solar park of India is established in which district of Rajasthan ?
(A) Jodhpur (B) Jaisalmer

(C) Barmer (D) Bikaner

TR % 19 3 5l & 9T 1 Ta@ 97 Gier e wniiud feran w2

(A) TR (B) SHe

(C) =T (D) TR
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142.

143.

144,

(89)
Match the following :
Festival District
(1) Camel festival (a) Jaisalmer
(2) Desert festival (b) Bikaner
(3) Kite festival (c) Udaipur

(4) Mewar festival (d) Jaipur
n @ 6 @
(A) () (@) @ (o
(B) (@) (b) (© (d
© @ © (a (b
(D) (@ () @ (o
fe1 =t gafera ife -
I foem
(1) e 3wd (a) JETR
(2) W% 3T (b) T
(3) AT e (c) 3EW
(4) TEIE () X
nHn @ 6 @
(A) (b) (@ (d) (o)
(B) (@ () () (d)
(€) ) () (@ (b)
(D) (@ () @ (o)
Which of the following statements is false ?
(A) Jawahar Sagar Sanctuary is in Kota, Bundi, Chittorgarh.
(B) Kesar Bagh Wildlife Sanctuary 1s in Dholpur.
(C) Semi-tropical evergreen forests are also called monsoon forests.
(D) “Kalpvriksh of Rajasthan™ is Rohida.
8 an o Fyd 3w 8 7
(A) TETE AR SR S, 39, fadee 6 2 | E4E
(B) R ST gilg J1IRvE i H 2 | Eﬁ
(C) g IO oY TEgr ai ! THE a- ot ad 2 |
(D) “TIH 1 Fedge” U1 2 |

Which is not correctly matched ?

(A) Luni- Jojri (B) Banas - Menal
(C) Mahi - Banganga (D) Chambal - Parvati
I |1 wE ghferd TET 8 7

(A) - A (B) ST — HTS

(C) W& — ST (D) <= — qrddt
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145. Who built the “Varaha temple™ at Pushkar near Ajmer ?

(A) Ajay Raj (B) Aruno Raj
(C) Vigraharaj IV (D) Prithviraj Chauhan
I o T ferd R gy Tfet” s famion e e 2
(A) AFITH (B) 3T
(C) fepraars =g (D) TS e
146. Who was the political agent of princely State of Sirohi at the time of 1857 revolt in Rajasthan ?
(A) J.D.Hall (B) Eden
(C) Major Burton (D) Mac Mession
U™ | 1857 1 shifd & gwa faud) fame =1 gifdfesd tee +9 or 7
(A) 9.8, g (B) A
(C) "R FH (D) B TEd
147. Motilal Tejawat was a resident of which village ?
(A) Falasiya (B) Samalia
(C) Colliery (D) Mangarh mE
ST AT foe e 5 e 9 7 =
(A) WeATRHET (B) Tmfew
(C) et (D) W@
148. Which literary work of Kanhaiya Lal Sethia was given Suryamal Mishran Award in 1987 ?
(A) Leeltans (B) Nirgrantha
(C) Dharti Dhora Ri (D) Shabd
1987 1 FETeet U TERR Hrodrenel Hiee = fore Ffefcres w1 i fezm mn 7
(A) e (B) ffy
(C) ww o & (D) @se
149. “Hathal village™ 1s associated with which princely state in the integration of Rajasthan ?
(A) Kishangarh (B) Jhalawar
(C) Pratapgarh (D) Sirohi
“B1A 71T BT G T o Uehiehtu] H i ©ft famea & qe1 2 7
(A) foremmg (B) HTeITdTe
(C) wamTe (D) e

150. Governor General Lord William Bentinck named which fort as the second Gibraltar in the
world ?

(A) Mehrangarh (B) Nahargarh

(C) Siwana (D) Taragarh

TR F we faiferam siféss 3 form gt 1 gforan o g fame a1 2 7
(A) UEATE (B) TEUTE

(C) fearom (D) dRFTE
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INSTRUCTIONS / féw
(Read carefully and comply / &= & 72 3R qrem #X)
IMPORTANT / weeaqef

[

[

. In Section 11 (Language-l) a candidate has to attempt the questions of the language which the candidate has selected as Language-1in the
I Section HIGT anguage-11) a candidate has 1o akcmpt the |.|ug_-.l.iun-. of the language w hich the candidate has selected as Language-1i in the

. The candidate must ensure that the Question Booklet Series Code and Shift No. has been filled correctly at the preseribed place in the

. ]]n_ candidate has tn .m-\l.n:; m that subject in Scction (IV a) Mathematics and Science or (1V b) Social Studies as selected by the candidate

Online Applicatipn
b e I R

n. I . PR - - - =
AT W F B e A 2w oamn moSaw et 3 owm [ F B9 8 A aaea-ma § e 2

=11 will be different from Language-L
o1 safererme s Fa AT A o A A - 1 A e A -1 i fEm R - s - Enh o

Online Application Form, The Langu
AU UL AT 1) B FH S e e

OMR Answer Sheet, Your OMR Answer Sheet will be evaluated on the basis of Question Booklet Series Code and Shift No., not

ggue}llo oklet N mber
ﬁ@;é“ Mg e oftren g s @ e g, S A
ﬂmﬂﬁégﬁmﬁ %mwﬁnﬁnrﬁm%' OMR H1Z 1 ST

in the Online Applicaton Form.

If a candidate answers the questions of EhL language or subject other than selected in the Online Application Form, the candidate shall be
personally responsible_for it and it wo |I h.l .m,.j}.u wrong, o

e = 3| WE-TE F avE n'a} a1 (v by amtrE s § 3 fwg & we @ e aen 2, e fam s et
A AHATIA AT FURLE RET T o v - . o
iz werdi aTaE m-ww:mﬁﬂmmﬁmfﬁwmzﬂmqmdmhwiﬁummmm%maﬁ werdi 1w F fEEm
B AT Teld /AT AT |

(]

1),

Read complete instructions carefully and fill the details from SL No. | to 7 in the OMR Answer Sheet and 51 No. 1 to 4 in the Question
Booklet. If yvou fail to fill the details and sign as instructed coreectly, vou will be persanally responsible for the consequences arising during
scanning of your {}\IHAJ]‘-\L&I Sheet.

5 o B @ e Z AR w137 7% OMR ufie v FA 1 8 0 7% we-ham (FEee) @ oa | 3tz smoaem i & faa
ﬂmmﬁﬂmém(}fﬂkm?tﬁlwﬁﬂawmmwmmwﬁ Eieies ples e |

The l)m,»‘uc:n Baooklet l,nm]msgs\‘]'ﬁ Pages hay ||]g_ 150 quc'.tican\_ After hcing instructed 1o open the Booklet, only then the candidates will apen
the Question Booklet scals. Check whether the Booklet contains 150 questions starting from Page No. 3 1o 90 The Shift Number required in
OME Sheet will be as per admit card |\-uul o the candidate and also mentiongd un 1hg top of llu Question Booklet.
wsA-iETF] 7 96 98 T 150 Wi § | G .er‘fﬂ‘mTWPWH &1 #@ g | a8 _vF'IT"-'-‘J-;T‘?IﬁT-FFI'HHU
wid & A T yw w3 8 Wi we ';0 % 8 | OMR stz v furge wva -mm F A FEE T AT s i wen & vg A
Werl -Qfea o S AT 0 A A R v 2 |

All questions are of MCQ (Multiple Chaoice Question) type. There is only one correct answer to each question carrying one mark. There
will be no pegative marking for wrong answers,

kb WERFE | e e o e A & |y ne i el il o w8 e wae F B o s e g i
All questions other than language questions of Sections 11 and I1I shall be bilingual.
WHFE-9= % ATHT wWoE [ TA 11 & Wt & wfafea o ad gvat & v fyamdm g7 )

Inany event of any mustake in any question's, condidates will not be penalized. However ne corrgctions will be made in question’s durng the examination.
vy 1 Tt s = ford a1 Tedt wepme = et =128 =2m ) e = i1 3 AT 8 T WeRT o AT A AT A |
Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Booklet, Do not tear it off from the
ugstion Booklet, No additiopal paper shall be provided.
1 WoFTE O TF T4 2 WA -1 A 8 e A W 2 | 7 e - @ A e, | Famft s Ao s saeen wd e |

Use of Log tables, Caleulator, Slide rule, Maobile phone, Pager, Digital diary, Bluctooth, Microphone or any other electronic itemiinstrument
ete. 1s not allowed. Their use will result in disqualjfics nlon . L. . i
P P, FeFgeed, T T, AEES T, 4, I, ey, WEEEE M fEh g vER @ il 39 4 a w owEm atie
?l?ﬂtﬁ—mq—ﬁ.nq:ﬂmtrrfﬁhmmm?l )
OMR Answer Sh a8 will be prov ti-s.cl along with Question Booklet separately,
OMR T2 9 - & |14 WETA o AT |
The Chuestion [3m1k||.‘l will be I‘-‘-lILd to the candidates 10 minutes before the start of examination and the candidate must fill all entries in OMR
AnswerSheet. The Question Bookletscal shall beopened S minutesbefore the start of examinationand the candidate must Gl 1 tod entries correetly
on the Question Booklet, Afteropening the Question Booklet, ensure that any page/ question is not missing / not printed / tomn / repeated. In case,
vou find any defect !11'\.'\.\|1=_|L in the Quu.tltrn Booklet, immediately inform the 1n'.|~!|l vorand getnt IL|'I! wed within 5 minuics h\ the |n\1"l| WO,
Warning Bell will ring at 5 minutes before eloser of examination and the last long bell will ring at closer of examination.
sl 1 WA -YTEAE] T s B F 10 A 9d AT | A AEyEE ' A OMR iz § A qfafLem T AT WEE AW | WA
qfere i @ T e F <F:a-|-.'~:rq‘?§1‘r=r=1'm:rqm | 4'.ﬁwﬁ|1??a‘r TE T A |m‘r-qﬁ=ﬂnm?-rl:rqaﬁq'ﬁmmm
a4z qiiswa # 5 Zaw_feifs aam 9 8 'FI"‘;IFI?, AT A 2 PE QW # AT Wel A1 A9 ¢ A e AR A2 T2 | Al g

1Erﬁr—r ?ﬂﬂfﬂﬁ?#ﬁ'mﬁqmmnr—r T W | SAE g

anﬁ?%fﬂ'ﬁqimmnﬁ'ﬁ aﬁqﬁhnmﬁwwm
Write your Name, Exq im Center Code, Signature, Roll No., Question Booklet Sernies Code, Shift Number and Question Paper Booklet Number
in the space provided in_the Question Booklet as well as in_the OMR Answer Sheet.
aa-qﬁ%ﬂ Trrl}n\m mztr?hﬂf? TIA W AR, W F F FIE, s, A, v -1 @i e, firee s w na giam
With h qucaliurl vou will find 4 |'iil'|hl.hll_' answers marked 15} the letiers A, B, O & 1D, Read each qucmitm C:ll'l_'rl]”}' and find out which
answer, according to you is correct. Indicate vour answer by darkening the appropriate circle completely in the OMR Answer Sheet comesponding
to the question. For m.Lerg_ ANSWERS USC b]llt black ballpoint pen only. Gel pens/peneils are_not allowed.
Wel: WA 3 TR g TULA, B(HI)'E]L"'_-T ?I";I'u"ﬂ'ﬂLWFH'H’?T_*RTHWF_HEF_'REHU\]Humqﬁﬁfﬂﬂﬁwqmzﬁm1
2R T 1 AT A O W | T A 290 2 ﬁwmmﬂ?aﬁmqqﬂﬂmm T | W% U ar e @ s
WRONG ( mrewr WROMNE ey WRONG S wyee

[ orTee! \.I-;‘.|'.t'|.| CORRECT /i W rong ‘\1(.'Ihll|| WRONG /e
T coCoe| ™M WOQO||log0o||lcono||ce0e

OM R Answer Sheet isdesigned for computer evaluation. Ifvou do not Follow the instructions given above and at the backside of the OMR Answer
Sheet, it may make cvaluation by computer difficult. Any resultant loss to the candidate on the above account shall be of the candidate only.
OM R e 1 Forezs GRT T & ford S v 2 136 s s v OM R iz 5 free: e w s fasi o arem i e, ot seges g sirve
AT A 21 AT |mmqqﬁﬂn°ﬁﬂmwwﬁhwaﬁcﬂ'ﬁmﬁ=m|

No candidate should leave the examination hall before the final bell. The OMR Answer Sheet is carbonless in duplicate having perforation on the
left side. Candidate should detach carefully the Original Copy from the Candidate’s Copy { Duplicate) so that the Oniginal Copy is not mutilated
inany way. Candidate should handover the Original OMR ('np\ and Question Booklet to the invigilator betore leaving the examination hall.
Candidate can carry only the Candidate \O\Il-lcup\ with him/her. Quullun Baoklet is not allowed to h-. taken by the candidate.

Frd wiaredi st o4 a9t & T4 W F =17 T8 o W | OMR $ite e dem w sl afm 2 s ardi J0F WERIE
e 2 ) el A @ serl £ whr (aafefn) @ ge ofy w1 i s 5 anfE fel o6 e a nﬂﬁaﬂirﬁ'ﬂhqq—ﬁwmm w
‘H?q?tmqm;_ggkﬁ wfd vd uyA-giea diaw w a g 1 aved e writ OMR $t wh g st wmr @ | Wy
s o | Ll |

€
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